StarTechy.om

Hard-to-find made easy®

Triple-Monitor Stand

ARMBARTRIO2

*actual product may vary from photos

FR: Guide de I'utilisateur - fr.startech.com
DE: Bedienungsanleitung - de.startech.com
ES: Guia del usuario - es.startech.com

NL: Gebruiksaanwijzing - nl.startech.com
PT: Guia do usuério - pt.startech.com

IT: Guida per I'uso - it.startech.com

For the latest inforr i pecifications, and support for

this product, please v com/ARMBARTRIO2.

Manual Revision: 07/05/2017


http://www.startech.com/ARMBARTRIO2

Use of Trademarks, Registered Trademarks, and other Protected Names and Symbols

PHILLIPS® is a registered trademark of Phillips Screw Company in the United States or other
countries.

This manual may make reference to trademarks, registered trademarks, and other
protected names and/or symbols of third-party companies not related in any way to
StarTech.com. Where they occur these references are for illustrative purposes only and do not
represent an endorsement of a product or service by StarTech.com, or an endorsement of the
product(s) to which this manual applies by the third-party company in question. Regardless
of any direct acknowledgement elsewhere in the body of this document, StarTech.com hereby
acknowledges that all trademarks, registered trademarks, service marks, and other protected
names and/or symbols contained in this manual and related documents are the property of
their respective holders.

StarTechy.0m

Hard-to-find made easy

Instruction manual



Warning statements

Read
assemble and use this product,

Mensagens de aviso
< .

Leia
utilizar este produto.

product ight
76 ) per monitor
When you ",
are tightening the screws,stop tihtening. Quando montar st prodit e
tcould )
resultin equipment damage «que pode resultar em danos no equipamento.
Warnhinweise Dichiarazioni di avvertenza
Assicurars i Assemblare il prodotto secondo e struzoni
Bevor Sie dieses. .
Legger d assembl;
eautiizzare questo prodotto.
‘geeignet: 8 kg per monitor. i
Montage des 3 bald
b en der Schracoen Sringono le it interrompere foperazione.
Teilen Te parti mobil
ann. causare danni alle apparecchiature.
Waarschuwingen Advertencias de uso
Zorg dat u dit product volgens de instructies in elkaar zet, '
. §
2ot en gebrue inelkaar ensamblaje y el uso de este producto.
. de carga: 8 kilogramos por monitor.
het vastdraaien van de schroeven, stop dan. Sionte resistencia, no los apriete mas 4 ! tar los tornillos
schade zou kunnen veroorzaken.
Varningsmeddelanden
g B> TARROEHB T TET>TRED,
. BCRESAEE RS TR ARSORI T THETNTIRLTHSRMITIRRE
produkien BHTTEL,
P rodukten 4 person eller R . "
& St for oiande per o NESIELTTEL, — /LB
BETHRS 9. FURIE TS BHLUSGETHHTESS,
3 - duskruvar 3t kan
dusiuta skruva ot " By ORIETY F R T RS BERBERIAT BRNSBYET, TV
FABNESICERLC L,
Lt ” det
Avertissements
Assemblez ce produit conformément aux instructions,
Uisez tout
assembler et utlser ce produit.
Is Ce par ecran

2 pas s
serrage des vis, cessez de serrer.

‘dendommager le matériel.

Instruction manual

StarTechg-0m

Hard-to-find made easy



Table of Contents

Warnings

Product diagram

Product dimensions

Technical specifications

Package contents

Requirements

Assembling the triple-monitor stand

Assemble the base

Attach a monitor to the crossbar.

Attach the VESA monitor mounts

Attach the monitors to the monitor arms

o o N o 1 W

Attach the crossbar and monitor arms

11

Attach the cable-management clips

Adjust the position of the monitors

15

Tipping hazard warning

15

Technical support

19

Warranty information

19

Instruction manual

StarTechy.0m

Hard-to-find made easy



Product diagram

VESA monitor mount

VESA monitor mount
Crossbar

VESA monitor mount

!

Left monitor arm

Right monitor arm

Baseplate —

463 mm (18.2in.) —3

Instruction manual StarTeCh r:Orn

1 Hard-to-find made easy



Technical specifications

Type of measurement : Measurement

75x75
100x100

VESA

B 17.6 Ib. (8 kg) per monitor

RATED LOAD

& -

ROTATION :

Up to 686 mm
(271in.)

SCREEN :

q, -30° to +30°

SWIVEL

StarTechy.0m

2 Hard-to-find made easy

Instruction manual



Package contents

Left monitor arm Right monitor arm

&
Arm caps Pole
Qty: Two Qty: One
Instruction manual Sta rTeCh.Com

3 Hard-to-find made easy



Cable-management clips Thumbscrews
Qty: Four {

3 mm hex key 5 mm hex key
Qty: One Qty: One

StarTechy.0m

4 Hard-to-find made easy

Instruction manual



= (m

M4x14 mm screws M5x14 mm screws
Qty: Twelve Qty: Twelve

Triple-Monitor Stand

© =

Washers Instruction manual
Qty: Twelve Qty: One

Requirements

« Three monitors that are compatible with one of the VESA mounting hole patterns
that ARMBARTRIO2 supports

A Phillips type screwdriver

Requirements are subject to change. For the latest requirements, please visit
www.StarTech.com.ARMBARTRIO2.

StarTechy.0m

5 Hard-to-find made easy

Instruction manual


http://www.startech.com/ARMBARTRIO2

Assembling the triple-monitor stand

Assemble the base

1. Screw the pole into the baseplate. (figure 1)

figure 1
léo— Pole
A

2. Use the 3 mm hex key to tighten the set screws to secure the pole to the baseplate.
(figure 2)

S e——— Baseplate

figure 2

= «———Baseplate

3 mm hex key StarTechg:om

6 Hard-to-find made easy

Instruction manual



Attach a monitor to the crossbar

Warning! Make sure that the weight of the monitor that you attach to the crossbar
does not exceed the weight capacity of this product. If you exceed the weight capacity,
you might experience personal injury or damage to the product.

This product can support up to 17. 6 Ib. (8 kg) per monitor.

1. To accommodate different monitor designs, the ARMBARTRIO2 comes with two sets
of screws that are different lengths and diameters. To select the appropriate screws
for the type of monitors that you're using, determine the depth and diameter of the
mounting holes on the monitors.

2. Arrange the crossbar so that the holes on the VESA monitor mount line up with the
mounting holes on the back of one of your monitors.

3. Position four of the washers over the holes on the VESA monitor mount.

4. Insert four of the M4x14 mm screws or the M5x14 mm screws through the washers,
the VESA monitor mount, and into the monitor. (figure 3)

5. Use a Phillips type screwdriver to tighten the screws.

Warning! Do not over-tighten the screws. If you encounter resistance while you're
tightening the screws, stop tightening. Failure to do so could result in damage to the
monitor.

figure 3

VielXE ®

7

Crossbar

Top of monitor l
@ =7 = :% //@
’ \
@,

.—LWasher

StafTechy:0m

7 Hard-to-find made easy

Instruction manual



Attach the VESA monitor mounts

Warning! Make sure that the weight of the monitors that you are using does not
exceed the weight capacity of this product. If you exceed the weight capacity, you
might experience personal injury or damage to the product.

This product can support up to 17.6 Ib. (8 kg) per monitor.

1. Position one of the VESA monitor mounts over the mounting holes on the back of
one of the monitors.

Note: Make sure that you position the VESA monitor mount so that the adjustment
screw on the mount is facing towards the top of the monitor.

2. Position four of the washers over the holes on the VESA monitor mount.

3. Insert four of the M4x14 mm screws or the M5x14 mm screws through the washers,
the VESA monitor mount, and into the monitor. (figure 4)

4. Use a Phillips type screwdriver to tighten the screws.
5. Repeat steps 1 to 4 to attach the second VESA monitor mount to the third monitor.

figure 4 \/i% Xi]%f %

Top of monitor /
l ®

—
N\ M4x14 mm screw
OR

Washer ““‘M5x14 mm screw

StarTechy.0m

8 Hard-to-find made easy

Instruction manual



Attach the monitors to the monitor arms

1. Slide the left monitor arm through the VESA monitor mount attached to one of the
monitors.

2. Slide the right monitor arm through the VESA monitor mount attached to the other
monitor. (figure 5)

figure 5

Right monitor arm
VESA monitor mount

VESA monitor mount )
Left monitor arm

3. Place an end cap on the end of each of the monitor arms. (figure 6)

Note: Make sure that you line up the hole on the end cap with the corresponding hole
on the end of the monitor arms.

figure 6

i

\

. o
Monitor arm

StarTechy.0m

9 Hard-to-find made easy

Instruction manual



4. Insert a thumbscrew through the hole in each of the end caps and into the monitor
arms, and tighten the thumbscrews in place. (figure 7)

figure 7

RN

End caps

Thumbscrew

Instruction manual

StarTechy.0m

Hard-to-find made easy



Attach the crossbar and monitor arms

Warning! Attaching the crossbar and monitor arms is a two-person job. Do not
attempt to complete this task by yourself.

1. Use the 3 mm hex key to loosen the screw in the collar on the pole.

2. Slide the collar to the height that you want the monitors to sit at, and use the 3 mm
hex key to tighten the screw in the collar. (figure 8)

figure 8

3. Carefully slide the crossbar over the end of the pole so that it’s sitting against the
collar. (figure 9)

figure 9

Crossbar

Pole ——

StarTechy.0m

11 Hard-to-find made easy

Instruction manual



4. Use the 5 mm hex key to tighten the four screws at the back of the crossbar.
(figure 10)

figure 10

5 mm hex key ——

5. Carefully place the left and right monitor arms over the projections on each end of
the crossbar. (figure 11)

figure 11

StarTechg-0m

12 Hard-to-find made easy

Instruction manual



6. Place the arm caps into the two monitor arm joints. (figure 12)

figure 12

Arm joint

Arm joint
If you're assembling the ARMBARTRIO2 for the first time, you need to tighten the

7.
two screws in the monitor arm joints. Use the 5 mm hex key to tighten the screws.

(figure 13)

figure 13

StarTechy.0m

Instruction manual
13 Hard-to-find made easy



Attach the cable-management clips

1. Snap the four cable-management clips over both of the monitor arms and the
crossbar. (figure 14)

figure 14

2. Route the monitor cables through the cable-management clips on the monitor
arms and crossbar, down the pole, and through the cable-management clip on the
pole. (figure 15)

figure 15

StarTechy.0m

14 Hard-to-find made easy

Instruction manual



Adjust the position of the monitors
Tipping hazard warning

Warning! The most stable configuration of the ARMBARTRIO2 is in the “flat” position
with all three of the monitors positioned in a straight line. ARMBARTRIO2 can become
unstable depending on how you position the monitors. If you adjust the position of
the monitors, you should exercise caution and test the stability of the ARMBARTRIO2
before you use it in the adjusted configuration. (figure 16)

figure 16

& w

You can adjust the position and angle of your monitors in the following directions:

0°to 30°

StarTechy.0m

15 Hard-to-find made easy

Instruction manual



+30°t0 -300
+300t0-30° L2

1. To position the monitors in the way that works best for your setup, complete any of
the following:

« To adjust the angle of the left and right monitor arms, use the 5 mm hex key to

loosen the two screws at each of the monitor arm joints. Position the monitors

at the angle that you want them in, and use the 5 mm hex key to tighten the
screws. (figure 17)

figure 17

Smmhexkey

Instruction manual StafTeCI".Com

16 Hard-to-find made easy



« To adjust the tilt angle of the left and right monitors, use the 5 mm hex key
to loosen the screw in the sides of the VESA monitor mounts. Position the
monitors at the angle that you want them in, and use the 5 mm hex key to
tighten the screws. (figure 18)

figure 18

Monitor arm

- To raise or lower the left and right monitors minutely, use the adjustment
screws located on the top of the VESA monitor mounts. (figure 19)

figure 19

Adjustment screw

VESA monitor mount

Instruction manual Sta rTeCh.Com

17 Hard-to-find made easy



« To move the monitors along the monitor arms, use a Phillips screwdriver (not
provided) to loosen the screw located on the underside of each of the VESA
monitor mounts. Move the monitors left or right on the monitor arms, and
tighten each of the screws when the monitors are in the locations that you
want them in. (figure 20)

Warning! Make sure that you loosen the screw on the underside of the VESA monitor
mounts before you move them along the monitor arms. If you move the VESA monitor

mounts without loosening the screws, you might damage the surface of the monitor
arms.

figure 20

VESA monitor mount

o—— Screwdriver

Instruction manual Sta rTeCh.Com

18 Hard-to-find made easy



Technical support

StarTech.com’s lifetime technical support is an integral part of our commitment to
provide industry-leading solutions. If you ever need help with your product, visit
www.startech.com/support and access our comprehensive selection of online tools,
documentation, and downloads.

For the latest drivers/software, please visit www.startech.com/downloads

Warranty information
This product is backed by a five-year warranty.

StarTech.com warrants its products against defects in materials and workmanship
for the periods noted, following the initial date of purchase. During this period,
the products may be returned for repair, or replacement with equivalent
products at our discretion. The warranty covers parts and labor costs only.
StarTech.com does not warrant its products from defects or damages arising from
misuse, abuse, alteration, or normal wear and tear.

Limitation of liability

In no event shall the liability of StarTech.com Ltd. and StarTech.com USA LLP (or their
officers, directors, employees or agents) for any damages (whether direct or indirect,
special, punitive, incidental, consequential, or otherwise), loss of profits, loss of business,
or any pecuniary loss, arising out of or related to the use of the product exceed the
actual price paid for the product. Some states do not allow the exclusion or limitation
of incidental or consequential damages. If such laws apply, the limitations or exclusions
contained in this statement may not apply to you.

StarTechy.0m

19 Hard-to-find made easy

Instruction manual



StarTechg:om

Hard-to-find made easy®

Hard-to-find made easy. At StarTech.com, that isn’t a slogan. It's a promise.

StarTech.com is your one-stop source for every connectivity part you need. From
the latest technology to legacy products — and all the parts that bridge the old and
new — we can help you find the parts that connect your solutions.

We make it easy to locate the parts, and we quickly deliver them wherever they need
to go. Just talk to one of our tech advisors or visit our website. You'll be connected to
the products you need in no time.

Visit www.startech.com for complete information on all StarTech.com products and
to access exclusive resources and time-saving tools.

StarTech.com is an I1SO 9001 Registered manufacturer of connectivity and technology
parts. StarTech.com was founded in 1985 and has operations in the United States,
Canada, the United Kingdom and Taiwan servicing a worldwide market.



